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(FEWE + RTAZ) x 1.2 = HERSEA - REHRIRH

(Bitk)

"
v - i

20,000 F 17,000 15,000 F3 130,000 M
25,000 22,000 F 20,000 150,000 F
30,000 3 26,000 3 23,000 F3 180,000 F3
35,000 31,000 F3 27,000 3 220,000 F
40,000 F 35,000 M 32,000 F 250,000
50,000 F3 45,000 F 290,000 F
60,000 F3 52,000 F3 340,000 F
ABAKH 20 AP 70,000 400,000 F
SR 25 AP 80,000 3 450,000 F
SEFILLE ST

X BMSSURITRMAZDE /A BAEK, B: 8MTHABEK R, C: 8=THAEKX—X

(k)

Bt LSS HREN

HECH HSSTRDIRNBE x 50% HXEE
fFreigee EA2M 30,000 B + A 2,500 B/ A
Rt MR B ETAY 1,000 M4 HSBIRENER 50,000 H/H
AR 10,000 M./ # 5,000 F3./#
fmibliIB R ERIRR 10,000 A/ # ITHItE (AE) SBiTHhE




